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(2) Zh(Ka-band radar), Rainrate (XRAIN), albedo (HIMAWARI-8.. (8:4078:50)

Fig. 1
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(4) Zh(Ka-band radar), Rainrate (XRAIN), albedo (HIMAWARI-8.. (9:0079:10)

Fig. 1
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(5) Zh(Ka-band radar), Rainrate (XRAIN), albedo (HIMAWARI-8.. (9:1079:20)

Fig. 1
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Fig.2 (1) Radar reflectivity 3D images (Ka—-band radar and XRAIN). (8:30-8:40)
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Fig.2 (2) Radar reflectivity 3D images (Ka—-band radar and XRAIN). (8:40-8:50)
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Fig.2 (3) Radar reflectivity 3D images (Ka-band radar and XRAIN). (8:50-9:00)
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Fig.2 (4) Radar reflectivity 3D images (Ka-band radar and XRAIN). (9:00-9:10)
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Fig.2 (5) Radar reflectivity 3D images (Ka—band radar and XRAIN). (9:10-9:20)



9:27 -9:29 “\&‘
HE HE

-20-15-10 -5 0 5 10 15 20 25 30 35 40 0 7 14 21 28 35 42 49 56
Radar Reflectivity [dBZ] Radar Reflectivity [dBZ]

Fig.2 (6) Radar reflectivity 3D images (Ka—-band radar and XRAIN). (9:20-9:30)
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Fig.2 (7) Radar reflectivity 3D images (Ka—band radar and XRAIN).
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Fig.2 (8) Radar reflectivity 3D images (Ka—band radar and XRAIN). (9:40-9:50)
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Fig.2 (9) Radar reflectivity 3D images (Ka—-band radar and XRAIN). (9:50-10:00)
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Fig.3 (4)Cell A CFAD(Ka band radar).
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Fig.3 (6)Cell C CFAD(X band radar).
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Fig.3 (9)Cell E CFAD(Ka band radar).
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